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O O Of

ASTOHAIZ AR A
SMHSEHAIZ 2 (s
MEEZHAE 23

K- EH3 B (3H) - HSAY - Ba2 il HZS2
SSMSTZHAE FXE2 oAl 2H 3]
4,000,000 4,000
O3. A& &Hl s Xl 57,623
-2eXeddE JIA JIA&E S XYl
3,500,000 3,500
-~ HAIE 22ls AR XY
2, 7173 %3,633m 9,871
-E 1,28 A2 R A4 1,435& 26,238 37,652
-MIIE 2 A2 4H| 100, 000& *66 M 2~ 6,600
202 0db] 6,300 6,300 0
01 2LHOHI 6,300 6,300 0
OSNEZTMWAER2E ERFA0H|
60,000& *7H 3 x53] 6,300
206 TH2 Ul 6,000 6,000 0
01 X2 bl 6,000 6,000 0
Oz HdUIMEPL(FEXSAIL 95)
60,000& *10 =105 6,000
401 Al HI L 2 THHI 86,000 85,000 1,000
01 A& HI 86,000 85,000 1,000
OF1,28 22t&d| B2 wA
50,000, 000& *14] 50,000
OoA3el= &X 12,000,000& *3JH 2~ 36,000
OhAIR 2200 & 55,730 74,768 19,038
101 2124 d| 42,010 41,048 962
04 J|12tH 22 s 42,010 41,048 962
OoOx&d &2 6,455
-0l 24 d| 48,2403 »2H x30 x23] 5,789
“AEE JI22E32 5,789,000& *11.5% 666
O=stETMMAIE SFEHY| 6,455
e ras| 48,240 x2H 60 5,789
A28 JI2R2E23 5,789,000& *11.5% 666
OFXNEAN & sFFH (oY Xel &F) 29,100
e rals| 200,000& 159 »9& 27,000
-28 L 2EH 140,000& *15H 2,100
201 2et2 Y| 9,740 9,740 0
01 AFR2t2l bl 9,740 9,740 0
O1.28t=2H| 9,740
—AS(Yd)EY 760,000& *93| 6,840
-LeHeldE HEYFRs 2 A
200,000& =23 400
LaXeld Hex 1,000,000& *13] 1,000
-ol=22 HaAz 1,500,000& *x13] 1,500




S&S O AIE 22l Al
SHSEHAE 29(s 2M/5Y - 5E)
sSUHSZHAIE 29 fEH)
SN EH - (EH) - HRAY - BES il
206 M= Hl 3,980 3,980 0
01 M= 4l 3,980 3,980 0
O 438 A3 6,000& *80kg 480
O+ Hel&d €35 7,000& =404 280
Os8dH 7¢ 25,000& = 12kg 300
=2 2 X3 R ANHIE Hzg 22
10,000& 2002 2,000
Ox== & X% & 920
—-& 2 A 8,000& *40H 320
- =X 10,000& »40& 400
M= H 10,000& 20 200
ME =8 23 98,821 98,881 A 60
201 ¢4 95,941 95,441 500
01 AF22t2l bl 75,400 75,400 0
O1.det+=& 72,390
-SOHAIE 2OHE S eS|
1,350,000& 1,350
~EOHSAME OFAY AL
320,000& 8 & = *243| 61,440
-EotsdtE A HAF AIEFY
50,000 81 & = *243| 9,600
03.28=¢ 1,890
OlAEM TR Y
70,0003 *5& 32 1,050
NEB2 29928 A+
70,0003 »4H 32 840
O5.2&Hl 1,120
-EotsAE AHMEHTAM AEEH MYE2RI
= A 7,000 x4 x40 1,120
02 =224l 20,541 20,041 500
O1.2Z22LHA 5,760
-HAHEEZN FNERY AHAOER
480,000& 123 5,760
OS3. A& &l Xl 14,781
“ZOHAIE HHEEANAE SXNES 14,781
CHHE B APAIAE (H/W)
94,020,000 *8%*1.1 8,274
HNH B2 AAIAE(S/W)
41,200,000& *13%1.1 5,892
TR E FEAMAE
4,300,000 *13%x1. 1 615
202 044l 1,680 1,680 0
01 SLHOIYI 1,680 1,680 0




EN: St HAIE2CAIE A
H: SMSTHAE 29 (sl pH/sY - &)
ool SMZSSIAE 29 CEERED)
. _ = SfE|
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
ORE d20s 2 SUHAIE 239 F40]
dl 60,000 *4H 7 1,680
301 LBt A= 1,200 1,200 0
09 HAIAHI EAZ 1,200 1,200 0
OKRESSAIAN BF XY TOHAIE AS 2 RS
NEWE FA0H 60,000& 10 x 1L 23| 1,200
THUUKREAS(2F) 381,368 470,000 188,632
o=t 152,000
Al 229,368
401 AlEHIZL 201 Y| 381,368 470,000 88,632
o= 152,000
Al 229,368
01 Al&H| 380,000 470,000 A 90,000
OF1,2s LEDXZY WAl 380,000,000 » 14! 380,000
& 152,000
Al 228,000
03 AlE 20| 1,368 0 1,368
OF 1,25 LEDEYH WH AL
380,000,000 *0.72/100%50%< & 2> 1,368
BHSABU (SASTUHAIZ BRI AR2)(IIEH/IIEH) 192,944 180,319 12,625
CIHARRAY|(SAS2T A ZZEIAIRA) 131,456 116, 151 15,305
AFOIHE2AHH| 131,456 116, 151 15,305
101 Q124 H| 131,456 116, 151 15,305
02 JIEFR &2 %= 131,456 116, 151 15,305
OFIAAZ 131,456
-2 3,080,300 2 x12& 73,928
-d2d 73,927,200 x1/12%100% 6,161
= P N = 2,640
204 ~25E 0] Bt 110,000& »2H x12& 2,640
-2U2PL 29,028
A2t 2R 4G
9,298 x2H x50A| 2+ 12E 11,158
o222 ¢ 24 792& 23 3652 x1/2 9,050
e e =] 74,7452 x2H « 118 x1/2 8,820
-IEse 1,440
i 2 Xt 40,000 2 x12& 960
JIEDLE 20,000 »2H x12& 480
2SN (ZH) 30,000& 1 x12& 360
=R | 140,000& »2H x12& 3,360
-2l g =l 50,000& 2 x12& 1,200
-d HZ A 130, 000& »2H x12& 3,120
-2 A S| 73,927,200 x1/12%60%*23] 7,393
- D2 AHH| 73,927,200 *86%*16/360 2,826
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A SMSCHABBRIAS
HH: HH2IAH (542 EDHAI f2el AL A ) (O1BH/ OIEE)
H@Hel: D22 (SUSZHAIZ2ARIARA) (22 &d)
(o
S BB B(EA) - HRAY - A 0f o il Hl D52
2 (SMETHAIZZ2ARA) 61,488 64,168 A2,680
fA2SH 40,008 44,368 A 4,360
201 B2 S 40,008 44,368 A 4,360
01 At 22l bl 29,144 28,944 200
ORMEY dit=EH| 2,920,000& 2,920
ogal 24,150
-2 & 50,000& x1H 1182 5,900
=% 50,0003 12 +3652 18,250
ORMEY =t 490,000& 490
OEAl Xt 132,000& ~12& 1,584
02 32224l 10,864 15,424 A 4,560
ORKNE2Y 532= 1,536,000& 1,536
OXEMASs U= 3,350
XS XAl 50,0003 = 1CH 50
-NsAEE 500,000 = 1CH 500
==l RUE = =) 1,400,000& 23] 2,800
OZHelole Hadl(3Ha, sdBAL S)
1,100& x14 *1202L x10Al 2F+20H 2,640
Ost2(Ad) 3,338,000 «1CH 3,338
HEFAOH 18,480 16,800 1,680
202 o4 4l 18,480 16,800 1,680
01 S LHOYI 18,480 16,800 1,680
OFEFT0H 20,000 +7F 112+ 128 18,480
g x| 3,000 3,000 0
203 ¥R =&l 3,000 3,000 0
04 FAN2SERF=AH| 3,000 3,000 0
ORN2LYR=TH(FH:7Y)
250,000& ~12& 3,000




